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Sl. No.1
QBID:1007451

Identify the correct preposition to make a meaningful sentence.

Radha left Amsterdam two days .
(1) after (2) ago

(3) since (4) between
(1) 1
(2) 2
(3) 3
(4) 4
W, 9, § eAtEl e gei § e 27
(1) == (2) 399 WE
(3) = (4) A==
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=42501]
2[Option ID=42502]
3[Option ID=42503]
4[Option ID=42504]

Sl. No.2
QBID:1007452

Identify the meaning of the underlined idiom from the options given.

After his mother's death. Eaja was at a loss to know what to do.

(1) careful (2} confused
(3) unsable to decide (4) distracted
(1) 1
2) 2
(3) 3

(4) 4




T=i-1 % 71 g=1-11 1 faem Fifeu

THl-1 Ti-11
(A) 9% FE I R HUH A Agm g a A () foem

(B) Il vmdmnamdd A d gmmEm (1) FHam

(C)  HEIEF ==l § T (IIT) ==
(D) RS+ O WoNeF #9F °§ S (IV) = -2T4

9 7u mu foFem § T O I W 999 il -
(1) (A)-(II}. (B)-(IID). (C)-(T). (D)-(IV)
(2) (A)-(IV). (B)-(II). (C)-(I1I), (D)-(I)
(3) (A)-(III). (B)-(I). (C)-(IV). (D)~(II)
(4} (A)-(T), (B)-(IV). (C)-(II), (D)-(I1I)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42505]
2[Option ID=42506]
3[Option ID=42507]
4[Option ID=42508]

Sl. No.3
QBID:1007453

Choose the correct option to make a meaningful sentence.

Yesterday, 1 to buy clothes from the Spark Mall.
(1) go (2) are going
(3 gone (4) went
(1) 1
2) 2
(3) 3
4) 4

Frefafes 3 o = @1 7= o8 o 27

(1) wFg=+ 2)

(3) v (4) wmsiare
1) 1
(2) 2
3) 3
4) 4

1[Option ID=42509]
2[Option ID=42510]
3[Option ID=42511]
4[Option ID=42512]

Sl. No.4
QBID:1007454




Identify antonyvm for the underlined word in the sentence.

Rohan's heroic act saved many lives.

(1) miserly (2) quiet

(3) chivalrous (4) coward

(1) 1
(2) 2
3) 3
(4) 4

g=1-1% =g g=i1-11 1 foem it

TH1-1 g=1-1T
(A) At (I) @ag e
(B) THEEH Il =z
(C) ==umgz (IIT) ==t 9=
(D) =Zam (IV) Hu5H g%
= feu mu fawei § ° TE I 1 =99 iy
(1) (A)-(IV), (B)-(I0), (C)-(I1L), (D-(D)
(2) (A)-(D), (B)-(1II). (C)-(II), (D)-(IV)
{3) (A)-(I1). (B)-(D), (Cy-(IV). (D)-(IIT)
(4) (A)-(IIT). (B)-(IV). (Cy-(I). (D)-(IT)
1) 1
2) 2
3) 3
(4) 4
1[Option ID=42513]
2[Option ID=42514]
3[Option ID=42515]
4[Option ID=42516]
SI. No.5
QBID:1007455
Find correctly spelt word from the option given.
(1) Restorent (2) Tolerent
(3) Consistent (4) Excultent
1) 1
2) 2
3) 3

(4) 4




FofafEa 5 5 =6 =31 =91 719 99 27

(1) g% = 9 fomn 21 (2)  T% T T Toma o 2
(3) 9% T o ama | (4 TFF T T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42517]
2[Option ID=42518]
3[Option ID=42519]
4[Option ID=42520]

Sl. No.6
QBID:1007456

Identify the correct passive voice for the sentence given below :

The government has launched the Swachta Abhivan Programme in India.

(1) The Swachta Abhivan Programme is launched by the Government in India

(2) The Swachta Abhiyan Programme was launched by the Government in India

(3) The Swachta Abhivan Programme has been launched by the Government in India
(4) The Swachta Abhiyan Programme had been launched by the Government in India

(1) 1
) 2
3) 3
(4) 4
FrefafEs 5 ¥ g a9 T2=iy

(A) o fagr 3R o faga w1 e
(B) @9 TFeT 1 |

(C)  rar form w1 Sfae 31 2|

(D) T8 AT I FH

(E) i 7 ¥ el 5 92 Teanen T8 A

= f2u w0 fawedi B & =@ I 1 =9 i

(1) #ae (A) 317 () (2) a4 (B) 31 (D)
(3)  =Fae (C) 3 (D) (4) a4 (A) 57 (D)
1) 1
(2) 2
3) 3
4) 4

1[Option ID=42521]
2[Option ID=42522]
3[Option ID=42523]
4[Option ID=42524]

Sl. No.7




QBID:1007457
Identifv the correct indirect speech for the sentence given below.

Rhea asked. “Did vou watch the movie in theatre last night?”

(1) Ehea asked me whether I saw the movie in theatre last night.
(2) Rhea asked me whether I had seen the movie in theatre last night.
(3) Rhea asked me whether I had seen the movie in theatre earlier night.
(4) Ehea asked me did I see the movie in theatre earlier night.

(1) 1

(2) 2

3) 3

(4) 4

frfafaa = o =9 3 = .

(A)  IHifeT TR sl i agen
(B)  3T=h0 TI=2 37 A9 ZH1 H A
(C)  =a7E T9TE oAt &

(D) 7RI Sift 9 F21 TE A |
(E) ®id W@ #d ¢

Jr= f2u M fawedi § 9 58 3 #1994 Fifa
(1) (B). (E), (D), (A). (C)
(2) (D). (A), (C). (B). (E)
(3 (B). (E), (A), (D). (C)
(4) (D), (A), (E). (B), (C)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=42525]
2[Option ID=42526]

3[Option ID=42527]
4[Option ID=42528]

Sl. No.8
QBID:1007458




Mateh List I with List I1

List-I (Word) List-II (Antonym)
A Antique L Approval
B. Antipathy 1L Charge
C. Absolve III. Native
D Alien V. Vogue

Choose the correct answer from the option given below:

(1) AL B-IV.C-LD-II
(2) A-LBILCIID-IV
(3) AIIBIICIVDI
4 A-IV.B-I.C-II.D-IIT
1)1
(2) 2

3) 3
(4) 4

T1-1 % =1y g=i-11 1 faem il

-1 1T
(A) = faeFa T@E & A (D) "=
(B) =S TEH 9 (I) @er
(C) 3% W FW F T (ITI) eaea
D) FFEEAEA (IV) e

U U aed O | oE I F 949 e
(1) (A)-(I1). (B)-(IID). (C)-(I). (D)-(IV)
(2) (A)-(D), (B)-(ID), (C)-(IV). (D)-(IID)
(3 (A)-(IV). (B)-(D). (C)-(IID). (D)-(II)
(4) (A)-(I1Ty. (B)-(IWV), (C)-(II), (In-(D)

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42529]
2[Option ID=42530]
3[Option ID=42531]
4[Option ID=42532]

Sl. No.9
QBID:1007459

Choose the correct sentence.

(1) Let us get down for business. (2) Letus get down to business.

(3) Let us get down at business. (4) Let us get down over business.




(1)1

(2) 2

(3) 3

(4) 4

FefatEs © & o w2 vE=n

(A) =M

iB) ExN7

(C)y T4

(D) =

(E) =

= fou U faekedi § ® WA I T =E A

(1)  Fa=(A). (B) T (C) (2) Fa9 (A). (C) 31 (E)
(3) a4 (B). (C) 31 (D) (4) =4 (C), (D) 3R (E)
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42533]
2[Option ID=42534]
3[Option ID=42535]
4[Option ID=42536]

Sl. No.10
QBID:1007460

Identify the part of speech of the underlined word in the following sentence.

Uneasy lies the head that wears a crown.

(1) Noun (2) Preposition
(2) Adjective (4) Verb

1) 1

(2) 2

3) 3

4) 4

frefafas 4 @ g we=rm

(A) ELREETZE]

(B) It 76l 9 Ten @ =
(C) T @ =FE

(D) TEEEE g g T
(E) =% =i giff 21t s

= fzu m faFed § O gen IUET I F 999 Hia

(1)  Fa= (B) 3 (D) (2) === (E) 37 (D)
(3) A (C) ¥7 (B) (4) =4 (A) FE(C)
1) 1

(2) 2




3) 3
(4) 4

1[Option ID=42537]
2[Option ID=42538]
3[Option ID=42539]
4[Option ID=42540]

Sl. No.11
QBID:1007461

o

Who among the following enjoys the rank of a Cabinet Minister of the Indian Union

(1) Deputy Chairman of the Planning Commission
(2) Deputy Chairman. Rajyva Sabha
(3) Secretary to the Government of India
(4) Comptroller and Auditor General
(1) 1
(2) 2
(3) 3
(4) 4

FofeiEg A 9 yidim oa @ Fefaiaa 0 o e Fee i s o= ye B 27
(1)  =r=H1 STEm ST (2) Tr=T TH] B I-THMEE
(3)  HTd TR F GfEd (4) 9FE F 99 w9 gEeE wWeE

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42541]
2[Option ID=42542]

3[Option ID=42543]
4[Option ID=42544]

Sl. No.12
QBID:1007462

Which Indian State launched "Mukhyamantri Nibir Matsyachash Prakalpa™
(1) Assam (2) EKerala
(3) Tripura {(4) Telangana

(1) 1
2) 2
3) 3
4) 4

T ° FA-F qWAE T4 7 geasEt Al seemw vwer F wwer e e e
(1) =mm (2) =
(3)  Fgm (4) T

]

(1) 1




(2) 2
(3) 3
4) 4
1[Option ID=42545]
2[Option ID=42546]

3[Option ID=42547]
4[Option ID=42548]

Sl. No.13
QBID:1007463

(rovernment of which state has planned to conduct a programme . under the banner of
‘Rashtriva Ashmita Manch on April 23, the birth anniversary of freedom fighter Veer
Kunwar Singh who played a key role in the mutiny of 1857.

(1) Chattisgarh (2) DBihar

(3) Rajasthan (4) Uttar Pradesh

(1) 1
(2) 2
(3) 3
(4) 4

0 798 TR 7 23 A F Eagdl T 97 Fa e TEE 1857 # fHgR ° 1% geay g Fae
o, 1 FEA TG AT 59 F @ 7 UF FEFEH I9H 1 T 5. 2

P

1) =T (2) f=m
(3)  TeEH (4) W WA

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42549]
2[Option ID=42550]

3[Option ID=42551]
4[Option ID=42552]

Sl. No.14
QBID:1007464

Which features of rocks undergo changes in the process of Metamorphism?
(A) Structure

(B) Texture

(C) Carbon Content

(D) Actual chemical composition

Choose the correct answer from the options given below:

(1) (A). (B) and (D) only
(2) {A) and (B) only
(3) (A). (B) and (C) only
(4) (B) and (C) only

1) 1
(2) 2




3) 3

4) 4
BT il Wi ° Sl =l H—Hi e °§ ufEdd gar e v
(A) ==

(B) =EE (Z9E)
(C) A saae (Fe2)
(D) awdfa® TEEEE JH
Fi= fou o faweat @ O gew Sugw I 99 it
(1)  @ae (A). (B) R (D)
(2)  ad (A) 3R (B)
(3)  Hae (A). (B) 3R (C)
(4  =Aa (B) 3R (O)
1) 1
() 2

3) 3
(4) 4

1[Option ID=42553]
2[Option ID=42554]
3[Option ID=42555]
4[Option ID=42556]

Sl. No.15
QBID:1007465

The headguarters of the Ghadar Party was located in which of the following city?
(1) Karachi (2) Lahore
(3) Montreal (4) San Franciseo

1) 1

2) 2

3) 3
4) 4

Frefeafaa foFa s 8 ez uidl =1 gemes st @t

(1) = (2) wER
(3)  Hitea (4) B wIGEH
1) 1
() 2
(3) 3
4) 4

1[Option ID=42557]
2[Option ID=42558]
3[Option ID=42559]
4[Option ID=42560]




Sl. No.16
QBID:1007466

Six friends — Amar, Bimal, Chandni. Deep. Eknath and Farid are sitting on a bench facing in
the same direction. Chandni 15 sitting between Amar and Eknath. Deep i1z not at the end.
Bimal is sitting to the immediate right of Eknath. Farid 1s not at the right end. Who 1= to the
immediate right of Farid?

(1) Deep (2) Chandm
(3) Amar {4) Eknath
(1) 1
(2) 2
3) 3
(4) 4

T fo3 — o, fome, =i, i, vy AR wie vF §9 W ws A o 4 g8 e 99 3| AHT AR uhy
% stg 4 =3 43 2| < Feft onfad R w AE ) v F o o fare g 2 win At S w
T 21 B % gt il B B 7

1) < (2) =reH
(3) HHL (4) THATY

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42561]
2[Option ID=42562]

3[Option ID=42563]
4[Option ID=42564]

Sl. No.17
QBID:1007467

In a row of soldiers facing North. Lal Chand 1z 8® to the right of Khurshid: Mavank 1z 16%®
from the left end: Lal Chand 1s 16t to the right of Jaikishan. who 1s 27 from the right end of
the row: Ehurshid 1= nearer than Mavank to the right end of the row: there are 5 soldiers

between Mayvank and Khurshid. How many soldiers are there between Jai Kishan and
Mayanalk?

(1) 3 2 2
(3) 1 (4)
(1) 1

(2) 2

(3) 3

(4) 4

I foan © 97 weh @ famiea i ok 9fw 0 oieEs geiis + o 89 T W R, 96w an @ | 16 4
TH W 2, defEs SAReE Gl 169 TIF W 3 SARTH UtE % aied T @ 273 T w2 e
T il G Ui 6 e T % A9 e 7 ; TG 3R TAE & o 1 5 o 2| Safeee o w6
= A e fam &1 £7

(1) 3 & 2
(3) 1 (4)




1)1
2) 2
3) 3
(4) 4
1[Option ID=42565]
2[Option ID=42566]

3[Option ID=42567]
4[Option ID=42568]

Sl. No.18
QBID:1007468

A B. C. D and E, each are to be taught for one month duration from January to May one after
the other though not necessarily in the same order by lecturers P, Q, R. 5 and T. P teaches
course B but not in the month of April or May. @ teaches course ‘A’ in the month of March. R
teaches in the month of January but does not teach course 'C" or I'. Which course is taught
by 5?

(1) Either Cor D (2) A

(3 Either Dor E 4y B

(1)
(2)
(3)
(4)

A W N =

A B.C. D3R ET T & UF F 79 T T 7% UH-UF FF a6 94 T UF 924 + fow 7T P, Q. R,
S 37 T gRT Tgr W1 @ W I7 3 FA § 5 9Evas T4 2| PFn B e # W we o wE = e 0
TE | QU F HEH ° FE A’ Te 2| R 99 % 9EH § g & o % C @ D’ 98 9B | S FH o

() C=D 2) A
(33 DTE 4 B

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42569]
2[Option ID=42570]

3[Option ID=42571]
4[Option ID=42572]

Sl. No.19
QBID:1007469




Choose the set in which the third statement is a logical conelusion of the first two.

@D
an
(I1I)
av)

(1)
(2)
(3)
(4)

[y

(1)
(2)
(3)
(4)

& W N

il

Some Xs are Ps. Some Ps are Ys. Some Xs are Ys.
All Bangles are beautiful. Some beauties are crazy. Some Bangles are crazy.
No belief is strong. Only strong have muscles. No belief has muscles.

All orangutans are men. Some men are strong. Some orangutans are strong.

(IIT) only
(I) and (IT) only
(IV) only
(@) and (IV) only

= foeal 0 O FFed S99 9SS 21 S9hedl R o O Heed 27

B

(II)
(1)

@IV)

F3 Xs, Ps%| $5 Ps, Ys 21 9 Xs, Ys &1
AE gi2al It 2| F9 G<Ral T 2| F9 91291 9 2

P o

F12 fovam gers T8 2| Fa O + UE 2 g uEEi e # G ot Tvam 5 o gm afet

= fzu T faEeul § H O9U I I 1 99 A0,

(1)
(2)
(3)
(4

1 1
(2) 2
(3) 3
4) 4

Fa= (IID)
e (I) 3 (1)

Fa () =17 (IV)

1[Option ID=42573]
2[Option ID=42574]
3[Option ID=42575]
4[Option ID=42576]

Sl. No.20
QBID:1007470




Which of the following arguments are formally correct?

(I) Some bikes are motorbikes. All motorbikes are scooters. Some bikes are scooters.
(ID All children are students. No students are bad. No children are bad.
(III) No pencil 1s pen. Scme pens are markers. Some pencils are markers.

(IV)  Every man has a wife. All wives are devoted. No devoted has a husband.

(1)  (ID) and (IIT) only
(2) (I) and (IV) only
(3) () and (I) only
(4) (I) and (ITI) only

(1) 1

2) 2

3) 3

(4) 4

Frafafas 4 @ =9 @ o6 sio=ries =1 @ @8 27

() % 15 AitaTs® 2dl 2| G Hiemsh TR 2l £ FS 15k Tpt 2l A

(I)  OW = B & 5 S 50 T2 21 HIE o= 90 7 &}

(III) =S e 99 72 2| B9 0 9T 3| F9 df-ae A 2

(IV) = 959 & UE UF ol 2| gt afciat e w2 o Feam % am afa 5@ e

Hi= fou o fasedi # O wsd SuET IO 1 9E il

(1) <hder (ID) @k (1ID)
(2) = (D) 37 (IV)
(3)  ae () #R (ID)
(4) et (1) &R (1)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42577]
2[Option ID=42578]

3[Option ID=42579]
4[Option ID=42580]

Sl. No.21
QBID:1007471

The numbers of four digits can be formed with the digits 1. 2. 3. 4 and 5. where repetition of
digits 1s not allowed 1s

(1) 30 (2) B0
(3) 120 (4) 240

(1) 1




(2) 2
3) 3
4) 4

HF 1. 2. 5. 47 5% @A 4 A FH (FHoA GO0 SHE ARG 2, O HH 3R gE
(arETE) @1 o =)

(1) 30 (2) 60
(3) 120 (4) 240

1) 1
(2) 2
3) 3
4) 4
1[Option ID=42581]
2[Option ID=42582]

3[Option ID=42583]
4[Option ID=42584]

Sl. No.22
QBID:1007472

A and B travel from point P to Q. a distance of 42 km at 6 km/h and 8 km/h, respectively. B
reaches Q first and returns immediately and meets A at R. Then the distance from points P to

R is
(1) 32 km (2y 36 km

(3) 40 km 4y 46km

(1) 1
(2) 2
(3) 3
(4) 4

A ¥t Bwaw: 6 i /o va 8 Tt fa2 i = o fog P Q @ & offa 42 et i gff 71 @ 21 B

Q T TEH UEd TRl & 3R GF 9 wied @99 A ¥ R fag W fown 21 P A R 9% & s i g
=t ?

(1) 32 T, (2) 36 =1,

(3) 40 Tt (4) 46 T,

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42585]
2[Option ID=42586]

3[Option ID=42587]
4[Option ID=42588]




Sl. No.23
QBID:1007473

If A purchases 10 cranges for %. 25 and sells 9 oranges for %. 25, then gain percentage 1s

(1) 12l (2) ?l
9 9

(3) 9% 4y 11—

1) 1

(2) 2

(3) 3

(4) 4

e A 10 Fat i 25 %9 H Gledl & 3K 98 O O F 25 ¥UU H &9 od1 &, 99 UH Udwd @rE S

Zm?
1 122 @ 71

1
(3) 9— (4 11—
) 9

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42589]
2[Option ID=42590]

3[Option ID=42591]
4[Option ID=42592]

Sl. No.24
QBID:1007474

Two natural numbers are In the ratio of 3 : 5 and their product 1z 2160, then the smaller

number 1

(1) -12 2 12
(3) 36 4y 60
1) 1
(2) 2
3) 3

(4) 4




1 WTHaH TEAT 3 : 57 I § 2 3R SR THEE 2160 ¥ 3| 76 T9, SE1 qE w0

(1) —12 () 12
(3) 36 (4) 60
(1) 1
2) 2
(3) 3
4) 4

1[Option ID=42593]
2[Option ID=42594]
3[Option ID=42595]
4[Option ID=42596]

Sl. No.25
QBID:1007475
i 2 3 ; : T
If 12’3 and — are given fraction. then largest fraction 1=
(1) = (2) 2
12 8
(3) E (4) All are equal
1) 1
(2) 2
3) 3
4) 4

(1) i3 (2) E
12 8
. 2 5
(3) 3 (4) Tt o |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42597]
2[Option ID=42598]
3[Option ID=42599]
4[Option ID=42600]

Sl. No.26
QBID:1025001




What was the main aim of Kyoto Protocol signed in Kyoto Japan in 1997 under a United
Nation Framework?

(1) Reduce acid Rain (2) Reduce Greenhouse (Gas emissions

(3) Reduce Ecolgical damage (4) Reduce damage due to disasters

(1)
(2)
(3)
(4)

A W N =

U HAT T2 @ % qgq 1997 H FbE S B gEiEiid FEel S #1 3 35y a4 17

(1) ATAE 9T B FH FA] (2) WHETSE 9 IeEed HI FG FAT

(3)  writfefas afq =1 +89 F+ (4) SAMEISA H 2 9Tl THEH F FE HE
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42901]
2[Option ID=42902]
3[Option ID=42903]
4[Option ID=42904]

Sl. No.27
QBID:1025002

What is the correct sequence of the four elements of observational learning?

(1) Attention, Imitation, Desire, Memory (2) Attention, Memory, Imitation, Desire

(3) Desire, Attention, Memory, Imitation (4) Memory, Attention, Desire, Imitation

(1)
(2)
(3)
(4)

A W N =

Ha T AT % 91 dedl 1 Tel hH =1 27

(1) =M, 3w, =291, o (2) =, gifd, w0, 7=
(3) =@, wW, wid, sEem (4) wfa, wm, g=a1, swm

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42905]
2[Option ID=42906]
3[Option ID=42907]
4[Option ID=42908]

Sl. No.28
QBID:1025003




What 1s the main aim of Janani Suraksha Yojana?

(1) To reduce birth rate (2) To decrease fertility rate
(3) Reduction of MMR (4) Family planning

(1) 1
(2) 2
3) 3
(4) 4

S T A w1 e S Ry

(1)  o7° & %! HH HAl (2) W - &Hal i g1 @ g
(3)  UH UH 3 S HH H= (4) ufEm - fEE=

(1) 1
2) 2
3) 3
4) 4
1[Option ID=42909]
2[Option ID=42910]

3[Option ID=42911]
4[Option ID=42912]

Sl. No.29
QBID:1025004

Golden Revolution is related to

(1) Jute (2) Pulses
(3) Milk (4) Horticulture and Honey

(1)1
(2) 2
(3) 3
(4) 4

L BN
T ST EEEd 3

(1) e (2} GClgr

(3) = (4) =mTEEl #X wEe

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=42913]
2[Option ID=42914]

3[Option ID=42915]
4[Option ID=42916]

Sl. No.30
QBID:1025005




The duo called as architects of New Economic Policy 1991 in India

(1) P.V. Narsimha Rao and Manmohan Sing
(2) Rajeev Gandhi and P.V. Narsimha Rao
(3) Manmohan Sing and Pranab Mukharjee
(4) Pranab Mukharjee and Yashwant Sinha
1) 1

(2) 2

3) 3
4) 4

T H 9% AT HAfd 1001 1 aWgeHR [FF SIST i ey T4y

(1) .. R 19 @1 gages o (2)  wsita ey A ot =, i i
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42917]
2[Option ID=42918]
3[Option ID=42919]
4[Option ID=42920]

Sl. No.31
QBID:1025006

In the Big Five theory of Personality, “E” stands for
(1) Empathy (2) FExternal
(3) Energy (4) Extraversion

(1) 1
(2) 2
(3) 3
(4) 4

=fFaea & =71 F1ga =l 4 3 o a2

(1) = (2) uFESE
(3)  wst (4) TEEZEEA
(1) 1

2) 2

(3) 3

4) 4

1[Option ID=42921]
2[Option ID=42922]
3[Option ID=42923]
4[Option ID=42924]

Sl. No.32
QBID:1025007




The technique of Dream Analysis is associated with

(1) Sigmund Freud (2) Eric Berne
(3) Pavlov (4) William Glosser

(1)
(2)
(3)
(4)

W SaEE i T eenad § T o " e 27

A W N =

(1) o9 v (2) ThE

= [ o .

(3) e (4) Tafeem =im

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42925]
2[Option ID=42926]

3[Option ID=42927]
4[Option ID=42928]

Sl. No.33
QBID:1025008

Which of the following is not related to Environmental protection?

(1) Use of paper bags (2) The Precautionary Principle
(3) Poverty alleviation (4) Sustainable development

(1) 1
(2) 2
3) 3
(4) 4

Frafefiaa & & =i @1 wafew @am & gafaq 748 27

(1) 0T =t et = 35am (2) veia fagmE
(3) T I (4) waa fawm

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=42929]
2[Option ID=42930]

3[Option ID=42931]
4[Option ID=42932]

Sl. No.34
QBID:1025009




Which agency facilitates child adoption and foster care in India?

(1) Child Adoption Regional Agency

(2) Child Adoption Resource Authority

(3) Child Adoption and foster care Agency
(4) Adoption and foster care organization
(1) 1

(2) 2

(3) 3

(4) 4

o A

fAferfiga 0 & &9 o1 Sl 9rid 0 77=1 1 712 o4 211 /e 999 G997 @ § g8Eal S 87

(1) == =l e o Sast &g sfawm
(2) == Wl MG o HT FEET W

(3) = MG o S T GUT AT HE SR

(4) MZ & N -390 997 2@9ra Fadi Ja
1) 1
2) 2
3) 3
(4) 4

1[Option ID=42933]
2[Option ID=42934]
3[Option ID=42935]
4[Option ID=42936]

Sl. No.35
QBID:1025010

“Satyagraha for drinking water” is associated with

(1) Mahatma Gandh (2) Dr. Bhim Rav Ambedkar
(3) Vallbhbhai Patel (4) None of the above

(1) 1

(2) 2

3) 3
4) 4

“O7 I F T TemR T wefea gl
(1) HETeAT Tmedr (2) =1 frET FEEET
(3) TEAHHS T (4 3T H ¥ F 740

(1)
(2)
(3)
(4)

A W N =




1[Option ID=42937]
2[Option ID=42938]
3[Option ID=42939]
4[Option ID=42940]

Sl. No.36
QBID:1025011

Arya Samaj was founded by whom?

(1) Raja Ram Mohan Roy (2) Swami Dayanand Saraswati
(3) Swami Ramkrmshna Paramhamsa (4) Swam Vivekanand

(1) 1
(2) 2
(3) 3
(4) 4

T Tore i T e & i ?

(1) T 79 Higd T (2) AT ZAME T
(3) T TTHF T (4) Tt faEwEs

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=42941]
2[Option ID=42942]
3[Option ID=42943]
4[Option ID=42944]

Sl. No.37
QBID:1025012

Who are the beneficiaries of the ‘CBSE Udaan Scheme'?

(1) All students who score above 90% marks in class X
(2) NRI students studying in CBSE affiliated schools

(3) Girl students residing in India and enrolled in the subjects Physics, Chemistry or
Mathematics in class XI and XII

(4) Girl students residing in India and enrolled in any subject in class XI and XIT

(1) 1
(2) 2
3) 3
(4) 4




Frefefion & & 7 99,00 5. ST Ao F e 7

(1) @sfi fammeff, <t wen-X # 00 wfawa & sfas s wm #d 2

(2)  HtfiuE. s,  gafga et O @smee o 1 i AR TS,
(3) oW 4 Faw = B @ Fa- X1 o8 wa-X1 ¥ fawg - oOifas o, @Ee ows 31 a9 |
TR ST

(4)  9va ¥ f5am =+ @ oA wan- X1 1 Fwen-XI1 T Tt ff 5m 7 Tmisa g

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42945]
2[Option ID=42946]

3[Option ID=42947]
4[Option ID=42948]

Sl. No.38
QBID:1025013

Which of the following 1s a plagiarism detecting software?

(1) Mendley (2) Endnote
(3) UREKUND (4) Zotero
(1) 1

(2) 2

(3) 3

4) 4

fefiga 9 © =hi=ET griaica=k =A1 = 9097 o ST U HigeaTt 27

(1)  w=d (2) TEE
(3)  3%3 (URKUND) (4) S
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42949]
2[Option ID=42950]
3[Option ID=42951]
4[Option ID=42952]

Sl. No.39
QBID:1025014

Direct Solar energy is used for

(1) Water heating (2) Distillation
(3) Drying (4y  All the above
(1) 1

(2) 2




3) 3
(4) 4

7

(1)  =ie7 T8 % & Tou (2) AEEA
(3) = (4) 39 Tt
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42953]
2[Option ID=42954]
3[Option ID=42955]
4[Option ID=42956]

Sl. No.40
QBID:1025015

How many Sustainable Development Goals (SDGs) are set by United Nations?

(1)
(3)

(1) 1
(2) 2
3) 3
(4) 4

15
1

16
18

(2)
(4)

. . -~ = - - . .. : =
T T2 T H Toha- Faq = 3299 21g e 27

16
18

(1) 15
(3) T

(2)
(4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42957]
2[Option ID=42958]

3[Option ID=42959]
4[Option ID=42960]

Sl. No.41
QBID:1025016

The unauthorized copying and distribution of software is known as

(1) Cracking (2) Software literacy
(3) Software piracy (4) Hacking

(1) 1

(2) 2

(3) 3

(4) 4




HFeat i AT Uiy da T AN 36 1 [Ga00 1 741 FeEadr 87

(1) T (2) TF=AFT TG

(3)  TFeT=m H = (4) 2fFm

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42961]
2[Option ID=42962]

3[Option ID=42963]
4[Option ID=42964]

Sl. No.42
QBID:1025017

Which one of the following is not an environment movement?

(1) Chipko (2) Narmada Bachao Aandolan
(3) Pani Panchayat {(4) Bhoodan

(1) 1
(2) 2
3) 3
(4) 4

Frferfiga & & = @1 wafem Hidem 74 27

(1  fau=t (2) e T Hige=
3 ot T=EE (4 YEA

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42965]
2[Option ID=42966]

3[Option ID=42967]
4[Option ID=42968]

Sl. No.43
QBID:1025018

Who is the founder of Brahmo Samaj?

(1) Dayananda Saraswati (2) Raja Ram Mohan Roy
(3) Vivekananda (4) Rishi Aurobindo

(1) 1

(2) 2

3) 3

(4) 4




(1)  zam= o] (2) Tem T9 °OIET T4
(3) o 2 (4) ﬂﬁﬂdﬂ"lﬁ'}lﬁlﬁ'ﬁ
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42969]
2[Option ID=42970]
3[Option ID=42971]
4[Option ID=42972]

Sl. No.44
QBID:1025019

‘Lok-Adalat’ refers to

(1) Out of court settlement
(2) Decreasing the load of cases from the court for speedy justice
(3) Summary trial

(4) People deciding about their problems

1) 1
(2) 2
3) 3
(4) 4

- 37gTeTd &1 3 2

(1) Haell H aret ausial we

(2) Gl % HW HHCH! & a15 B FH HO aifk Iy = e g
(3)  dfem gehgm - aftem

(4) & et goenst & Soen @ W

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42973]
2[Option ID=42974]

3[Option ID=42975]
4[Option ID=42976]

Sl. No.45
QBID:1025020

Probation services entail

(1) Leniency in correctional services
(2) Institutional services
(3) Community-based treatment of offenders

(4) Letting off the offenders




(2) 2
3) 3
4) 4
@ - ¥ty & gafua Fans d aftfem 2
(1) &M - gum Faadi 7 ol awan
(2) g dand
(3)  FfeEl % @Y §HEE W i SEEn A
(4) ol o fer s e
1) 1
(2) 2
3) 3
4) 4
1[Option ID=42977]
2[Option ID=42978]

3[Option ID=42979]
4[Option ID=42980]

Sl. No.46
QBID:1025021

Through which constitutional amendment, “the right to property” has been deleted as a
fundamental right?

(1) 42w (2) 44w
(3 Tard (4) 81«

(1) 1
(2) 2
3) 3
(4) 4

g Tt T9ie & areay ¥ ool F st =i difers st 8 e e g

(1) ERURLEI (2)  =ETEEE
(3) GEtell (4)  ZFEEET
(1) 1
2) 2
(3) 3
4) 4

1[Option ID=42981]
2[Option ID=42982]
3[Option ID=42983]
4[Option ID=42984]

Sl. No.47
QBID:1025022

What is Geothermal energy?
(1) The energy stored within the Earth  (2) The energy from wind
(3) The energy from Sun (4) Hydro electric Energy

1) 1




) 2
3) 3
(4) 4

AT Tl TR FEd 27

(1)  g-Af=a Ha (2) " Sl

(3) H-F= (4) <1 gR1 Seanteq farsrett s
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42985]
2[Option ID=42986]
3[Option ID=42987]
4[Option ID=42988]

Sl. No.48
QBID:1025023

Mercury and lead are two toxic elements that cause

(1) Noise pollution (2) Land pollution
(3) Metal pollution (4) Dust pollution

1) 1
(2) 2
(3) 3
4) 4

TR S HE 27 Sl qe 8 TSR e e 2

(1) T TEH (2) 9 (=) wgEm
(3) d1g SIgHU (4) T UgHU

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=42989]
2[Option ID=42990]

3[Option ID=42991]
4[Option ID=42992]

Sl. No.49
QBID:1025024

National Disaster Management Division works under the ministry of

(1) Home {(2) Finance

(3) Family Welfare (4) Environment and Forests
(1) 1

(2) 2

3) 3




(4) 4

(1) 7= (2) T

(3)  d9fEw Feam (4) AT HART T
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42993]
2[Option ID=42994]
3[Option ID=42995]
4[Option ID=42996]

Sl. No.50
QBID:1025025

The long term weather changes such as heat waves, rising sea levels, melting glaciers,
flooding, storms, droughts, fires refer to :

(1) Global warming (2) International warming

(3) Geo-local warming (4) Local warming

1) 1

(2) 2

(3) 3
(4) 4

TR T SERe IHEa S a9 79, FHEE - 6w, TR i Ee, T S, T, 3, A6
fepm =1 Hoha Al 27

(1)  gAzer™ amd (2) e AT
(3) g-THHE A= (4) TAEE T
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42997]
2[Option ID=42998]
3[Option ID=42999]
4[Option ID=43000]

Sl. No.51
QBID:1025026

Putting oneself in the shoes of another person and understanding his’her perceptual world is

(1) Empathy (2) Positive Regard
(3) (Genuineness (4) Sympathy

1) 1

(2) 2

3) 3




(4) 4

20 AT Sl S8 S AT F TG S IHE AATCAF T T HEEAT

(1) T (2) FEArETF 9a
(3)  fremem (4) wEEYE

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43001]
2[Option ID=43002]
3[Option ID=43003]
4[Option ID=43004]

Sl. No.52
QBID:1025027

Which word among the following refers to physical of psychological exhaustion caused by an
inability to cope?

(1) Frustration (2) Crisis

(3) Burnout (4) Insommnia
(1) 1
(2) 2

3) 3
4) 4

HEAT 7 F T % FHE0 S AEF T THETIE G Al 8, 3HE [0 Hetetad 3 § i 6 9 99

(1)  fomem (2) @%z - Teafq

n

(3)  F9EEE (4) ot I

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43005]
2[Option ID=43006]

3[Option ID=43007]
4[Option ID=43008]

Sl. No.53
QBID:1025028

The term ——— Psychology refers to using findings from Psychological research to
solve real-world problems.

(1) Pragmatic (2) Practiecal
(3) Academic (4)  Applied
(1) 1

(2) 2




3) 3
(4) 4

7162 THIESH, BRI SATEEE § e T i AR Feha AT © TeeE A

.

(1)  TFF o= (2) =AEEF

XA

(3) Ll1=n (4) HI9T3

[ i |

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43009]
2[Option ID=43010]

3[Option ID=43011]
4[Option ID=43012]

Sl. No.54
QBID:1025029

Who 1s the author of the book “Mind, Self and Society™

(1) Ruther Ford (2) George H. Mead
(3) Mahatma Gandhi (4) M.S. Gore

(1) 1
(2) 2
3) 3
(4) 4

“HI$E, Ue U WETsd” Te® &1 @ $H 27

(1) ®wW e (2) st wa, fig
(3)  HaETem it (4) wRUE, T

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43013]
2[Option ID=43014]

3[Option ID=43015]
4[Option ID=43016]

Sl. No.55
QBID:1025030

Social Stratification means

(1) Socialisation

(2) Social Change

(3) Division of people on the basis of birth and social status
(4) Division of labour




(2) 2
3) 3
4) 4

ATt T F=m o e 2

[al

(1) TTHT=TT=RATT

(2)  =EIfSE g
(3)  aH-Taum=

(4) <0 AT THEISE T5E F AN W AR H e

1)1
(2) 2
3) 3
(4) 4
1[Option ID=43017]
2[Option ID=43018]

3[Option ID=43019]
4[Option ID=43020]

Sl. No.56
QBID:1025031

are ‘distinct forms’ of ‘Justice’ in Indian Constitution.

(1) Social, Economie, Political (2) dJustice, Empowerment, Well-being

(3) Social, Psychological, Emotional (4) Educational, Social, Judicial
1) 1
(2) 2
3) 3
4) 4

TEATE AE9H § = o AT -Hew B8] 2

(1) =T, S, TeETE (2) =T, AR, FA

(3) TS, AT, SETaH (4) Sféqorr, g, == o
(1) 1

() 2

(3) 3

4) 4

1[Option ID=43021]
2[Option ID=43022]
3[Option ID=43023]
4[Option ID=43024]

Sl. No.57
QBID:1025032




One of the following does not figure in the Millennium Development Goals (MDGs)

(1) Eradication of extreme poverty and hunger
(2) Improvement of maternal health
(3) Combating HIV/AIDS, malaria and other diseases
(4) Promoting good governance
1) 1
(2) 2
3) 3
(4) 4

frfaiga 0 & v meEe; fa@m <@ (Millennium Development Goals — MDGs) =i afitfg 7 T8
A ? -

(1)  &Aco= TIET T 9 F 3G FAT

(2) W9 A ER @

oo

(3) = s &1/ ugd (HIV/AIDS), meifien 9 g&il smrfEr & as

(4) A= AMTIEA = OreaEd 29

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43025]
2[Option ID=43026]

3[Option ID=43027]
4[Option ID=43028]

Sl. No.58
QBID:1025033

Depreciation of domestic currency leads to rise in

(1) Export (2) Import

(3) Export and Import both (4) Neither Import nor Export
1) 1

(2) 2

(3) 3

(4) 4

eIt g1 % IEYeE § IUH e 3

() famEdE (2) =M@ H
3) frafa 3 smam eFt § (4) A FEE § 3T F e

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=43029]
2[Option ID=43030]
3[Option ID=43031]
4[Option ID=43032]

Sl. No.59
QBID:1025034

Consultancy comes under which sector of economic activity?
(1) Primary sector (2) Secondary sector
(3) Tertiary sector (4) Quarternary sector

(1) 1
(2) 2
3) 3
4) 4

TS ST AT ST AT G R s H e 27

(1) i g3 (2) fzdta=s @s
(3) qaEE @3 (4) =T @
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43033]
2[Option ID=43034]
3[Option ID=43035]
4[Option ID=43036]

Sl. No.60
QBID:1025035

What is Goods and Services Tax (GST)?
(1) A corporate tax (2) A direct tax
(3) A gift tax {(4)  An Indirect tax
(1) 1
(2) 2
(3) 3
(4) 4

T U9 HA A Y

(1) T Tam= =+ (2) TF TG H
(3) T 3UEE A (4) TUF ATHAF L
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43037]
2[Option ID=43038]
3[Option ID=43039]
4[Option ID=43040]




Sl. No.61
QBID:1025036

Choose the correct statement with respect to Norm

(1) Loosely set pattern of group behaviour.
(2) Standards of behaviour expectation shared by group members.
(3) Lack of conformity of norms 1s accepted in group.
(4) Moral values are not part of norms.
1 1
(2) 2
(3) 3
(4) 4
AHES F 27

(1) OHe 4 =99¢N & e § &ie go

(2) EUE ¥ G g1 ST § HOATHG SUEnH % AEH] o+ I HA

(3) 79 4 AMES & FEET & Te FAd i FHI R TR F

(4) AfieF Hoa AMgE &1 T T 2

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=43041]
2[Option ID=43042]

3[Option ID=43043]
4[Option ID=43044]

Sl. No.62
QBID:1025037
The Age for getting registered with ATAL PENSION YOJNA is yrs
(1) 18 —-40 (2) 20-40
(3) 45— 60 (4) 50-60
1 1
(2) 2
(3) 3
(4) 4
A2e e TS U AR A AT =afE 30 a9 2|
(1) 18 —40 (2) 20-40
(3) 45— 60 (4) 50-60
1 1
(2) 2
3) 3

(4) 4




1[Option ID=43045]
2[Option ID=43046]
3[Option ID=43047]
4[Option ID=43048]

Sl. No.63
QBID:1025038

Covid-19 pandemic is considered as : —

(1) Chemical disaster (2) Natural disaster

(3) Human-made disaster (4) Biological disaster

(1) 1
() 2
(3) 3
(4) 4

Hifaz-19 wamd frg =g # e st 27

(1) e 3 (2) wrpfrs e
(3 wa-ffiE s (1) Sfas AT

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43049]
2[Option ID=43050]

3[Option ID=43051]
4[Option ID=43052]

Sl. No.64
QBID:1025039

Which of the following is not the step of PRA?

(1) People (2) EKnowledge
(3) Administration (4) Participation

1) 1
(2) 2
3) 3
(4) 4

Aaferiad O & =i &1 9.@.0. (PRA) &1 =0 481 27

(1) BRI (2) 3=
(3) wEmEA (4) wrfEHAT
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43053]
2[Option ID=43054]




3[Option ID=43055]
4[Option ID=43056]

Sl. No.65
QBID:1025040

The Appropriation Bill, 2022 is related to

(1) Commerce (2) Law and Justice

(3) Agriculture (4 Finance

(1) 1
(2) 2
3) 3
(4) 4

fafredm faters 2022 frad gafim 27
(1 arfrsg 2) faft v =ma
(3 P (1) fm

1) 1
(2) 2
3) 3
4) 4
1[Option ID=43057]
2[Option ID=43058]

3[Option ID=43059]
4[Option ID=43060]

Sl. No.66
QBID:1025041

RUTAG stands for

(1) Rapid Urban Transport Action Group
(2) Rural Technology Action Group
(3) Rural Transformation Authority of Government

(4) Rural Unit Technieal Advancement Group

(1)1
) 2
(3) 3
(4) 4
smg A uh w o e 2e
(1) g sy gl weeE U
(2)  =Ta e uEEE I
(3) =T JEREIE AAE WS Tae
(4) = g et veaTEe 1™
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=43061]
2[Option ID=43062]




3[Option ID=43063]
4[Option ID=43064]

Sl. No.67
QBID:1025042

Which variahle is not a component of HDI
(1) IMRE (Infant Mortality Rate) (2) Life expectancy

(3) Access to knowledge (4) Decent standard of living

(1) 1
(2) 2
3) 3
(4) 4

%17 &1 9% (variable) v=.d1.e5. (H.D.L) =1 "ae= 78 2

(1)  oms.mm.Er. (IMR) (2) ey ¥
(3) 99 T e (4) =faa -
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=43065]
2[Option ID=43066]
3[Option ID=43067]
4[Option ID=43068]

Sl. No.68
QBID:1025043

(Given below are two statements

Statement [ : dJan Shikshan Sansthan provides vocational training courses to the
marginalised for their empowerment.

Statement I :  Inclusion of SC and ST is emphasized as beneficiaries in Jan Shikshan
Sansthan due to their disadvantaged position.

In the light of the above statements, choose the appropriate answer from the options given
below

(1) Both Statement I and Statement 11 are correct

(2) Both Statement | and Statement 11 are incorrect
(3) Statement [ is correct but Statement I is incorrect
(1) Statement [ is incorrect but Statement II is correct

(1) 1

2) 2

(3) 3

(4) 4




!':H'_c',?i

Fo fau U 2

Fo7 1: 54 forew @eum Hfoma @ (margenalised) % TEIfdao F4 @ forw samEETEE wiwamn +

foru fama vem =i 21

w2 I1: =7 e weom 0 sgfaa nfd o Sggi=d S & @r & A w6 W G 58 T 2

“.\‘

(1)

(2)

(3)

(4)

1) 1
(2) 2
3) 3
(4) 4
1[Option
2[Option

3[Option
4[Option

i 3 i g & A

FUT F AT °, A= 5w e fawed § 8 w=E 39gE I 1 99 Hifen

Fya 1 & I =91 =2t 8

F9A 1 &R I 2F1 1o 2

Foq [ a8t 2, el a3 I e 2

w9 1 erd 2, <ifeet sy I o 2

ID=43069]
ID=43070]
ID=43071]
ID=43072]

Sl. No.69

QBID:1025044

Given below are two statements

Statement [ :  Real-self is one’s actual perception of characteristics, traits, and abilities

that form the basis of the striving for self-actualization. The ideal-self is

the perception of what one should be or would like to be.

Statement II :  When the real-self and ideal-self are very close or similar to each other,

In the

below

(1)
(2)
(3)
(4)

(1) 1
) 2

peaple feel competent and eapable. The mismatech bhetween real-self and

ideal-self causes anxiety and neurotic behaviour.

light of the above statements, choose the appropriate answer from the options given

Both Statement | and Statement 11 are correct
Both Statement | and Statement Il are incorrect
Statement [ is correct but Statement II is incorrect

Statement [ is incorrect but Statement II is correct




(3) 3
(4) 4

= 21 wye Bu m

i~

F [ At R, S S A w sl giewm 21 S sen-falg #1 mw we w=
HTIR T9A1 2| AT F8 F4d A1 Fehm 2 S A2 adrd) 2 6 $8E H a9 g4 =@0e

Fo I1:  F9 arAaE®- H1 AET-T3 U 560 % 980 & A9as A 99 8, 71 0F 3§ med-ged @
A T FEAFA A H5AY ST FG 2| T 99 Araras - SR SAE - 99 8@ ¢ qf = d
THE®-99 97 =998l 1 FE0 994 2

IR FUT F AT H, 919 58 T Foed 7§ § 5 39T S0 F F91 HIe

(1) = I 26 o 2
(2) ¥ IR I 3H1 eq 2
(3) =y 1o 2, o o I e 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43073]
2[Option ID=43074]

3[Option ID=43075]
4[Option ID=43076]

Sl. No.70
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Given below are two statements

Statement [

Statement 11

Social values are cultural standards that indicate the general good

deemed desirable for organized social life.

The process of socialization may not aim to inculeate social values in an

individual's personality.

In the light of the abhove statements, choose the appropriate answer from the options given

below

(1) Both Statement | and Statement I are correct

(2) Both Statement | and Statement I are incorrect

(3) Statement [ is correct but Statement II is incorrect

(4) Statement I i1s incorrect but Statement I1 is correct

(1) 1
) 2
(3) 3
(4) 4

F=1 21 %9e gy e 2

Fag I

e 11 :

% fom aifed Tms - 2

"~ L ol e, N

2l Hehal 2 foh @it it whEa #1 S3va e =faq & =faacs 4 wes gedi #1300

FT 7 F

ST FIT F AT H, T U T FEed 0 g 37 3% =94 Fig

(1) = 1o oA adt 8

(2) Foa 1 3 11241 7o &

(3) =y = 2, <ifeh e [1 e 2

(4)  =u= Ived 2, ot Fam 1108 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43077]
2[Option ID=43078]




3[Option ID=43079]
4[Option ID=43080]

Sl. No.71
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Given below are two statements

Statement [

Statement 11

The primary characteristics of a capitalist economic system is the belief
in ‘private enterprise’ and the virtues of the market economy. A pure
capitalist system believes in the maximum of government interference
over the economic system.

Socialist economic system believes in centralized planning where all
important decisions regarding production, investment, resource
allocation, determination of prices, exports and imports are taken by a
centralized planning authority and controlled, regulated by the
government.

In the light of the above statements, choose the appropriate answer from the options given

below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement [ is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

(1) 1
(2) 2
3) 3
(4) 4

A=t 21 e feu T E

F29 [ USEmE i gumel S wAtas HEma 9 § T 9w SAfewma sam iR qeiEet e &
TEON B AT TEEl @l U Tug TSErEr yomet o wonell § e § Atas s

FEATeT 1 favemg =t 2

FO Il :  THSEE A e Fegiga e § o w8 e soned, fem, mem e,
Froat =1 frawo, R e § gEfaa 9om geeEy BEe Fegha ared @61 ge Ao

ST F29 F A 4, T 50 T et § 8 T8 3T ST A =9 i

(1)  &oA I #n 2 =8 2

(2)  wuA I [ 2F o 2

(3)  wua I9& 2, wifha wo I 7o 2

(4)  FHE 17aa 2, o Fa9 [ a8 2

(1)1
2) 2




3) 3
(4) 4

1[Option ID=43081]
2[Option ID=43082]
3[Option ID=43083]
4[Option ID=43084]

Sl. No.72
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Given below are two statements

Statement [ :  Political parties play an important role in demoecracy.

Statement [I :  Parties play a decisive role in making laws for a country.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement I1 is correct

(1) 1

(2) 2

(3) 3

(4) 4




473 o fog o

FuT [ ToE ° UeHITGE 2l i T qEeago giae 2

F9 [0: = 291 & U % 90 § v o i e 2

I FUT F A H, = 7 e fGwmew § ¥ weE S9gE ST 1 99 Hifen

(1) =@ & 391 o8 3
(2)  wua IR [ EH o 8
(3) A 1@E 2, @ik %29 17 8

(4)  Fu 17 2, okt %o 1o 2

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=43085]
2[Option ID=43086]
3[Option ID=43087]
4[Option ID=43088]

Sl. No.73
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Given below are two statements. One is labelled as Assertion A and the other iz labelled as

Reason R.
Assertion (A) Legislative measures alone can't reduce the incidence of crime.
Reasons (R) : Effective Implementation of the legislation does not require social support.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct




2) 2
3) 3
(4) 4

=2 @1 Fe fou mu 81 v wfiwua (Assertion (A)) % ®0 F fofiaa 2 4t gg0 35% FR0 (Reasons (R))
w0 A

FAfirRe (A) Fae duTie T @ 390y F faran w1 w9 78 B o g

T (R) - FFA H TWTEERAT 21 8 9o w0 F fore ammfas mar f smevmwma 796 )
I wUA + I 4, T By e fawed § 8 g9 s I & = e

(1)  (A) 3t (R) gHi @8t £ 3if (R), (A) 1 =t =men 2
(2 (A) 3 (R) 2H w4 &, & (R), (A) F ad =men 7@ 2
(3) (A =8 R, &fe (R) ot 76 2

4 (A= TR, S (R 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43089]
2[Option ID=43090]

3[Option ID=43091]
4[Option ID=43092]

Sl. No.74
QBID:1025049

Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): There is a gap between social policy statement and the development
programmes.

Reasons (R) : The reason is lack of political will and commitment in the formulation and

implementation of programme.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are correet and (R} is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

(1) 1
(2) 2




3) 3
(4) 4

Ft= 71 #wua g T 2| v Af9weT (Assertion (A)) % ®9 H fafigg 2 1 580 35+ #FE0 (Reasons (R))

& '] Y
AR (A) ArATTeh ifd =rerd=a T fashE FEFa 0 d= 2
1 (R) : SEHT AT FEFHH 6 T AN FETEG w0 T A6 $os-9119d AR Fe-egar =i

Al 2

ST FH F e 1, 9 50 Gwed § § ges 39gE I w994 Fife

() (A) &7 (R)2F 8 2 &F (R), (A) F1 =& =me 2

2 (A) & (R) 21 @&t 2, <iffa (R), (A) Fi @& =men 728 2
(3)  (A) =l &, i (R) =& 72 2

(4) (A= T 2, afF (R) @@ 2

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=43093]
2[Option ID=43094]
3[Option ID=43095]
4[Option ID=43096]
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Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Asgsertion (A) : The social and cultural changes are so closely interwoven that cultural
change involves social change.

Reasons (R) : Technology not only influences our social relationships but also influences

the direction and character of cultural change.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(4A) is true but (R) is false

(A) is not false but (R) is true

F= 21 Fe f5u 2| v Af9wed (Assertion (A)) F =9 # fefaa 2 91 50 35k w00 (Reasons (R))

FETH

FAMTFE (A) TS S AEHaE TiE0d OF 560 8 394 909 ®9 ¥ 3 g0 ¢ 5 aegE aiEed

H & AT T e 2
F= (R) : SREITAER] 7 Fe g0 ATaE S W J9E S 2 g @R TiEd G
H =S 1 o wfEa w1 2l

ST FI9 F ATk 0, 99 120 0 fFhed 9§ Td 39 1 9949 i

(1)

(A) ¥ (R) 2F1 & & 17 (R), (A) 1 @& == @
(A) & (R) =41 53 2, &t (R), (A) F1 781 =z 76 #
(A) =g 2, oifed (R) #1832

(A) 73 781 2, offe= (R) 3 2




(4) 4

1[Option ID=43097]
2[Option ID=43098]
3[Option ID=43099]
4[Option ID=43100]

Sl. No.76
QBID:1025051

The nobel prize winning microfinance organization ‘Grameen Bank’ is known with the work of

(1) Mohd. Yunus (2) Kailazsh Satyarthi
(3) Amartya Sen (4) Abhijit Banarjee

(1) 1
(2) 2
(3) 3
(4) 4

Hi= @ Fue fou M #) wF SAfiERE (Assertion (A)) % ®9 § faftgd 2 4t goU 39 FRU (Reasons (R))
% &= H

sAfiEReE (A) - THRATHS ®HE 5 FAAR 90 &1 UfEm S 2 9 Fola &5 d s wm sme =1

F9 (R) : ufgenafi &1 AHTEaS wE1 FI sTETESa 95dt & 7l 3= Fola &9 8 s wm s
T A

I FH & el 5, o fo 7 femed § 3 @ 3w == i
(1) (A 3 @) w E st (R), (A) FaE = 2

(2) (A3 (R) 1 7 &, wfe (R), (A) A &t =men 74 @

(3 (M) EE R, o (R) FE 2

@ (A FEE R, wfE R) T R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43101]
2[Option ID=43102]

3[Option ID=43103]
4[Option ID=43104]

Sl. No.77
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Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Agsertion (A) Women's participation in natural resource management is essential for its
suCCcess.

Reasons (R) : Awareness and empowerment of women will enhance their participation.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{A) is true but (R) is false

(4A) is false but (R) is true

fi= gt wuw fou me §) v sifisem (Assertion (A)) % ®9 # fafia 2 4t go0 389% FW01 (Reasons (R))
HETH

Ffushea (A) : Tk T wayE & qherar & forg afgensdi £t unftgr s 21

AT (R) : Afgensti it STTERG 3T geER 390 Wil | g =)

ITAIE ®YF ® e 1, T2 for mo fowedi § @ aen I I w9 fifw

(1)

(2)

(3)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A) 3T (R) ST &2 2 S (R), (A) 6t @&t =ame 2

(A) 3 (R) &HT @&t &, < (R), (A) i @ell =men 74 2
(A) T &, SfA (R) ot 7 &

(A) @ 76 2, e (R) &t 2

1[Option ID=43105]
2[Option ID=43106]
3[Option ID=43107]
4[Option ID=43108]

Sl. No.78

QBID:1025053




Given below are two statements. One 1s labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  The joint family system 1s most suitable for families engaged in agriculture.
Reasons (R) : With the establishment of new factories in urban areas, workers from

villages move to the cities which disintegrates the joint family.

In the light of the above statements. choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) {A) 1s true but (R) 1s false

(4) {A) 1s false but (R) 1s true

(1)
(2)
(3)
(4)

A W N =

= 71 Fua fou v 2| v Afwe (Assertion (A)) % ®7 H fafad @ 91 35 396 # (Reasons (R))

=, -

ER R
S (A) T THAR TUIAT FHY -9 @R F Afawad S35 8
%m0 (R) TR &9 H E el & LAY 81 W9 H, d9erE aE ° vEll 0 9l o & e

.T-J |:F r’& I3 -3 %l

ST FHUF * AT U, i 2 T Eemed ¥ F HEl 39 99T ity

(1)  (A) & (R) =+ 53 & 31 (R), (A) i =8 =ame 2
(2)  (A) & (R) =M1 93 &, =T (R), (A) 1 Tl =ame 78 2

(3) (A== 2, o (R) a9 2

(4)  (A) #6428, wifd (R) 99 2

1) 1




(2) 2
3) 3
4) 4

1[Option ID=43109]
2[Option ID=43110]
3[Option ID=43111]
4[Option ID=43112]

Sl. No.79

QBID:1025054

Given below are two statements. One 1s labelled as Assertion A and the other i1s labelled as

Reason R.
Assertion (A):  Cancer is a non-infections disease.
Reasons (R) : Cancer impairs normal body functions for a few days.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(A) 15 true but (R) 1s false

(A) 1s false but (R) 1s true




=1 71 FoF o w2 | v @Ay (Assertion (A)) % ¥9 § fof@a & a1 g0 35F w0 (Reasons (R))

% ®9 0
FAfgFRTT (A) FHE UF AGHEF T 2
E{f e {R} 5 '-—i.l¥ T m E1IES ]'-3 oF 'J:ﬁ :-'"%l- l:'-h?:_, ﬁ:ﬁ %F:- %‘q a':rlj'[ =hic %l

IRIT FUF F AT °, 919 50 70 Fewed § 7 9 I 99 FHie

(1) (A &R (R)ZH a3 2 &1 R), (A) F &1 =awz 2
(2) (A &R ®) I 73 3, G R), (A) F w@ =wen @ 2

(3) (A @z, afF (R) 353 2

(4) (A) @53 2, =il (R) 93 2

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43113]
2[Option ID=43114]

3[Option ID=43115]
4[Option ID=43116]

Sl. No.80
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The resources on which mankind i1s dependent are provided by various sources to the ‘spheres’.
Which are these essential ‘spheres™

(A) Lithosphere

(B) Hydro sphere

(C) Solar sphere

(D) Atom sphere

(E) Biosphere

Choose the correct answer from the options given below
(1) (A), (C), (D) only

(2) (C). (D), (E) only

(3) (A, (B). (E) only

(4) (B). (D). (E) only

1) 1
(2) 2
(3) 3
(4) 4

qma W fom s w i 2, 9 fafyw J@ai g gl w0 9em feu 9 2| Gofafee 8 @ wm g
(A)  Temsa

(B) SoHsd

(C) nued

(D)  THmIEE A5

(E) <= usa

A=t fem T fekedi # & Wl 3T A = i

(1) === (A), (0), (D)

(2) === (C), (D). (B)

(3) F=4 (A). (B). (E)

(4) %=« (B), D). (E)

(1)1
(2) 2




3) 3
(4) 4

1[Option ID=43117]
2[Option ID=43118]
3[Option ID=43119]
4[Option ID=43120]

Sl. No.81
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Which among the following items are formal means of social control?
(A) Education

(B) Police

(C) Traditional customs

(D) Law

(E) Ideologies

Choose the correct answer from the options given below
(1) (B). (D), (E) only

(2) (A), (C), (D) only

(3 (B). (C), (D) only

(4 (A), (B), (D) only

(1) 1
() 2
(3) 3
(4) 4
faatafaa zsal 0 @ gt o= & #2985 =i 27
(A)  Torem
(B)  ferm
(C)  wrmrEe ffg-fars
(D) =
(E) A

Hr= Teu v faeredl § & HEl S 1 99 i
(1) Faa (B). (D), (E)

(2)  F=a (A), (C), (D)
(3) == (B), (C). (D)

(4) =4 (A). (B). (D)

1)1




(2) 2
3) 3
4) 4
1[Option ID=43121]
2[Option ID=43122]

3[Option ID=43123]
4[Option ID=43124]

Sl. No.82
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There are three different ways to use biomass as biomass energy. These ways are -

(A) Change to hard metal

(B) Burn to produce ashes

(C) Burn to produce heat and electricity
(D)  Change to gas-like fuel.

(E) Change to iquid-like hiofuel

Choosze the correct answer from the options given below:
(1) (A), (B) and (C) only
(2) (C), (D) and (E) only
(3) (B). (C) and (D) only
(4) (A), (C) and (D) only
(1)
(2)

(3)
(4)

A W N =

IS i TEHE el & B9 0 39 i o o= dih ol 3 8 -

(A) 3R 91g 0 Fge

(B) TR TG AT
(C) T SR ferselt 91 i % ToTu S
(D) = #H @2 % 399 ° e

(E) o 9=e i 9Eng | gfiad

Hr= feu v faeredl U § HE1 3T R0 =99 iU ;
(1) == (A), (B) @ (C)
(2) == (C), (D) ¥R (E)
(3) ==« (B), () it (D)
(4)  FF(A). (C) sr (D)

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=43125]
2[Option ID=43126]

3[Option ID=43127]
4[Option ID=43128]

Sl. No.83
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In economics there are a few basic factors of production

(A) Land

(B) Labour

(C) Market
(D) Capital
(E) Enterprise

Choose the most appropriate answer from the options given below

(I (A), (B). (C), (D) only
2y (A), B). (D). (E) only
(30 (B).(C). (D). (E) only
4 (A), (B), (C)only

(1) 1
2) 2
3) 3
(4) 4
FUITEA § IUEA & F9 4 99 &
(4) R
(B) =W
(C) =R
(D) e

(B) Hifigw 381 =1 @Ed

Hra feu o faspedl § & e gugaa I w1 =999 i
(1)  #Fad (A), (B), (C), (D)

(2) %9 (A), (B), D), (B)

(3) & (B). (C). (D). (B)

(4) ¥ (A), (B), (O)

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=43129]
2[Option ID=43130]

3[Option ID=43131]
4[Option ID=43132]

Sl. No.84
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In Globalisation for small producers and workers

(A) Workers jobs are more secure.

(B) Small manufactures have been hit hard due to severe competition.

(C) It may lead to widening of income inequality among various countries.
(D) Workers are given their fair share of benefits.

(E) Expansion of unorganised sectors.

Choose the correct answer from the options given below

(1) (A). (B). (C) only
(2)  (B), (C), (E) only
(3) (D), (E), (B) only
(49 (B).(C). (D) only

(1)1
(2) 2
(3) 3
(4) 4




Y ICNEF S AHH F AT [ T A -

(A)  gfr=i i e wte e 2

(B)  fa ufeeq=i = = &g fmforeraiEi 7 e 986 7|
(C)  Ty=-fug o 0 o it AFmar 9g i

(D)  gfget =1 3t o 23 s 21

(E)  o7rTad @el & = g 2|
:ﬂﬁﬁﬂwﬁwﬁﬁﬂﬂﬁ_ﬁﬁwzﬁﬁq

(1) %= (A), (B), (O

(2)  F=a (B), (0), (E)
(3) #aa (D). (E). (B)

(4)  F== (B). (C). (D)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43133]
2[Option ID=43134]
3[Option ID=43135]
4[Option ID=43136]

Sl. No.85
QBID:1025060

Right to Information means

(A) The right to seek information from any public authority

(B) The right to inspect only limited work being carried out by public authority.
() The right to take information only in the form of electronic format.

(D}  The right to inspect records held by public authorities

(E) The right to take certified copies of records held by public authorities

Choose the correct answer from the options given below

(1) (B), (C), (D) only
(2 (A), (B), (C) only
(3)  (A), (D), (E) only
(1) (A). (B), (E) only

1 1
(2) 2
3) 3




(4) 4

AT % A F A9 E

(A) T oft TehE st § g o 5 At

(B) Tl oft b stfsmerdt = grn fofn = w2 = &1 difna =9 & e =3 #1 @fasn

(C) et SoiFzi=e HiHE & %9 H o1 o & ATHT

(D)  TehE AtawEn + g wd U R F e w5 w5 At

(E) == SRt & 30 TF U f=hiE <t g gfateadar @ i Afgwn

Fr=r 25U T aeed § " TE 3T R 59 e

(1) === (B), (0), (D)
(2)  =ad (A), (B). (C)
(3) == (A), (D), (E)
4) F=9(A), (B). (B)

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43137]
2[Option ID=43138]

3[Option ID=43139]
4[Option ID=43140]

Sl. No.86
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NEP 2020 policy’s vision includes the following key changes to the current system
(A)  Moving towards a more multi disciplinary undergraduate education.
(B) Sub optimal governance and leadership of HEIs.

(C)  Revamping curriculum, Pedagogy, Assessment and student support for enhanced
students experiences.

(D)  Governance of HEIs by highly qualified independent boards having academic and
administrative autonomy.

(E) A rigid separation of disciplines.
Choose the correct answer from the options given below

(1) (B).(C). (A) only
2 (B).(A), (D) only
(3) (A, (C), (D) only
(4) (C) only

(1) 1
(2) 2
3) 3
(4) 4

U7 § 2020 Fifd F SFwTe FEfaigd Beeaul 9iE Foue Jone ¥ e @

(A)  TEFFUENEF [EEAE WA H AR ATE T2 o
(B) =T TS I IEad Al R g

(C)  foenfifEi & sgwat & afg % o moawa, fan v, gears o et s § weivag o)

(D) 3= IEIed T=as aie o] NETeh AR TemEf-e T I 2, gl U9 § HATE 1 HATHeE|
(E) ==l =1 ol gadeR

F= fou o forei § @ wE ST %1 999 i

(1) === (B), (O). (A)

(2) === (B). (A). (D)

(3) == (A), (0), (D)

(4 F=a (0)
(1) 1

(2) 2
3) 3




(4) 4

1[Option ID=43141]
2[Option ID=43142]
3[Option ID=43143]
4[Option ID=43144]

Sl. No.87
QBID:1025062

Match Last I with Last 1T

Last I
Non Government Organization
(A) TARUN BHARAT SANGH
(B) SEWA
(C) NAVDHANYA
(D) PRIYA

List II
Pioneers
(I}  Ela Bhatt
(I) Rajesh Tandon
(ITI) Rajendra Singh
(IV) Vandana Shiva

Choose the correct answer from the options given below :

(1) (A)-I), (B)-(IV), (C)-(I), (D)-(I11I)
(2)  (A)-III), (B)-D), (C)-(IV), (D)-(II)
(3)  (A)-(IV), (B)-(IIL), (C)-(IL), (D)~(I)
(4)  (A)-IID, (B)-(II). (C)-(I). (D)-(IV)

(1) 1
(2) 2
3) 3
(4) 4

Tt-1% Ty =1 9111 e Fifeg

il | =11
- FRE] HEAT 9% U2IH

(A) = wEA 7 I zomwE
(B) @ (II)  Trefst 224
(C) == (M) g foe
D) T V) =& o

Fr= feu e faredl O & w1 3 @ 994 Sitsu

(1) (A)-ID, (B)-IV). (C)-(D), (D)-III)
(2) (A1), (B)-D. (C)-AV), (D)-(II)
(3  (A)-OV), (B)-II), (C)-(IL), (D)-(I)
(4)  (A)-IID, B)-1D), (C)-@D), D)-(IV)

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=43145]
2[Option ID=43146]

3[Option ID=43147]
4[Option ID=43148]

Sl. No.88
QBID:1025063

Mateh List I with List I1

List I List 11
Legislations Year of
enactment
(A) Factories Act () 19581
(By Dowry Prohibition Act (I) 1986
(C) Juvenile Justice Act (IITy 1948

(D) Untouchability Offences Aet  (IV) 1855

Choose the correct answer from the options given below

(1) (A)-(II), (B)-(ID), (C)-(D), (D)-(IV)
(2 (WD, (B)-(D), (C)-(1D), (D)-(IV)
3 (A, (B)-(D), (C)-(ID), (D)-(IV)
@) (A, (B)-(ID), (C)-(I1D), (D)-(IV)

o

(1) 1
(2) 2
(3) 3
(4) 4

g1 g =1 g=1-11 e Fifse

-1 -1

EARE L]

(A) =FREE TR I 1961
(B) =&= fmg wEe (II) 1986
(C) forer =g w#e (IIT) 1948

(D) szas dwmE wE (IV) 1955

= Teu 7Tu faereal § 4 |21 ST w1 999 iU

(1)  (A)-1ID), (B)-A1), (C)-(D), (D)-(
(2)  (A-ID. (B)-D. (C)-(ID). (D)-(
(3)  (A)-dID, (B)-@), (C)-1D), (D)-IV)
4  (A)-D, (B)-ID), (O)-a1D), (D)-(IV)
1)1

IV)
IV)




(2) 2
(3) 3
(4) 4
1[Option ID=43149]
2[Option ID=43150]

3[Option ID=43151]
4[Option ID=43152]

Sl. No.89
QBID:1025064

Match List I with List I1

List I List II
{A) Ninth Schedule () Contains provisions of Muniecipal
Corporation
(B Tenth Schedule (IIYy Contains acts and orders related to
land tenure, land tax, railways,
industries.

(Cy Eleventh Schedule (III) Contains provisions of disqualification
on grounds of defection.

(D)  Twelfth Schedule (IV) Contains provisions of Panchayati Raj.

Choose the correct answer from the options given below

(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(T)
(2) (A)-(II), (B)-(I11), (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(IV), (C)-(1), (D)-(11I)
(4) (A)-(D, (B)-(IL), (C)-(I1I), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4

F=-1 % 71 =1 Jer-11 e Fifeg

-1 =11
A) = g M) =98 FR-frm & gEfag awm 3
(B) ==t = (II) @9 FEaFdl, 99 +, o9 IJIE H FEE
A=y T HeT 2
(C) Tmedi g=t  (III) Za-"5cH % A9W T 8T 3804 & F1e
D) =weEt =t (IV) T=Ed T e FHA F A

Fr= fou v el 0 ¥ wE 3 @ =E ey

(D (A)-AV), (B)-(1I), (C)-aL), (D)-(I)
(2)  (A-dD), (B)-(IID), (C)-aV), (D)-(D)
(3)  (A-D), (B)-AV), (C)-I), (D)-(I1L)
(4 (A-D, (B)-ID, (C)-(I1I), (D)-(IV)




(1)
(2)
(3)
(4)

A W N =

1[Option ID=43153]
2[Option ID=43154]
3[Option ID=43155]
4[Option ID=43156]

Sl. No.90
QBID:1025065

Match List I with List I1

List [ List II
Days Dates
(A) International Yoga Day (Il 8% March
(B) International Women's Day (IIy 10 December
(C) World Environment Day (IIT) 21+ June
(D) International Human Rights (IV) 5% June

Day

Choose the correct answer from the options given below

(L) (A)-(D, (B)-(I1D), (C)-(IV), (D)-(ID)
(2) (A)-(IV), (B)-(I1D), (C)-(I1), (D)-(I)
(3) (A)-(1T), (B)-(I1D), (C)-(I), (D)-(IV)
(4) (A)-(IID), (B)-(D), (C)-(IV), (D)-(IT)

(1) 1
(2) 2
3) 3
(4) 4
g1 % @19 w1 gefi-11 fiem Hifsm
i1 11
feam fafe
(A) i A femm @ 8 u=
(B) sreidra afeen femm (D 10 g
(C) foza vafam feam (I 21 53
(D) Al wma  FfwR (V) 59

fe=m
= fou mo fawmedi & & @ 3 = 99 fife

(1) (A)-(D, (B)-(I1D), (C)-(IV), (D)-(1)
(2) (A)-(IV), (B)-(I1D), (C)-(II), (D)-(I)
(3) (A)-(I1), (B)-(I1T), (C)-(T). (D)-(IV)
(4) (A)-(I1D), (B)-(D), (C)-(IV), (D)-(1I)

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=43157]
2[Option ID=43158]
3[Option ID=43159]
4[Option ID=43160]

Sl. No.91
QBID:1025066

Match List I with List II

(A)
(B)
(C)
(D)

List I
Acts

Mental Health Care Act
National Green Tribunal Act
Hindu Succession Act
Protection of Human Rights Act

List IT

Years of
Commencement

(Iy 1956
an 2017
(IITy 1993
(IV) 2010

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

F=-1 % =1 &1 gei-11 faem Fifee

(A)
(B)
(©)
(D)

(A)-(D, (B)-1)., (C)-(IV), (D)-(11L)
(A)-(T), (B)-(IV), (C)-(Iy, (D)-(11L)
(A)-(IV), (B)-(ITID), (C)-(I), (D)-(L)
(A)-(D, (B)-(1D), (C)-(AV), (-1

-1

(D
(II)
(T1T)

(Iv)

Fr= fau o famedt 0 @ wd 3T W == Hifs

-~~~
W
N
A W N =

(A)-(D), (B)-(II), (C)-(IV), (D)-(I1I)
(A)-(IT), (B)-(IV). (C)-(D), (D)-(I1I)
(A)-(IV), (B)-(1D), (C)-(D), (D)-(II)
(A)-T), (B)~(I1I), (C)-(AV), (D)-(1I)

T=-11
Ty 9
1956
2017
1993
2010




1[Option ID=43161]
2[Option ID=43162]
3[Option ID=43163]
4[Option ID=43164]

Sl. No.92
QBID:1025067

Match List I with List IT

(A)
(B)
(C)
(D)

List I List IT

Personality Popular contributions

Aruna Roy (I) Power of laborers and farmers
Iron Sharmila (ITy  Acid Attack Survivors

Laxmi Agarwal (ITT) Teach for India

Shaheen Misti (IV) Struggle against AFSPA

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(D, (B)-(IV), (C)-(I1), (D)-(11I)
(A)-(IT), (B)-(IV), (C)-(Iy, (D)-(11I)
(A)-(IV), (B)-(D), (C)-(I1I), (D)-(1T)
(A)-(D, (B)-(I1I), (C)-(1I), (D)-(IV)

g-1 % w19 =1 g=1-11 e it

(A)
(B)
(©€)
(D)

Ti-1 F=-11

= T @) ==l W FEE Fi o

I e (I) &= § gA & ITeelid!

e FETE (III) ¥/ w1 st

e T (IV) HATFT (T UF UF o ) & faeg wad

Fr= feu o faweni 0 4 w21 3T =1 999 Fifsu

(A)-(I), (B)-IV), (C)-(IL), (D)-(III)
(A)-(IT), (B)-(IV), (C)-(I), (D)-(I1T)
(A)-(IV), (B)-(I), (C)-(I1D), (D)-(IT)
(A)-(I), (B)-(III), (C)-(II), (D)-(IV)

1[Option ID=43165]




2[Option ID=43166]
3[Option ID=43167]
4[Option ID=43168]

Sl. No.93
QBID:1025068

Match Last I with Last 1T

Last I List IT
UN conventions Year

(A) Convention on the Rights of the (I) 2006
Children

(B) Convention on Elimination of All (II) 1989
forms of Racial Diserimination

(C) Elimination of All forms of (IIT) 1965

discrimination against women.

(D) Convention on the Rights of persons (IV) 1979
with Disability.

Choose the correct answer from the options given below

() A)-O. (B)-III). (C)-(aI). (D)-IV)
(2  @)-1V), (B)-ID), (C)-(D). (D)-(I)
(3)  (A)-D), (B)-AV), (C)-(I), (D)-(III)
(4)  (A)-ID). (B)-III). (C)-IV). (D)-(I)

1) 1
(2) 2
(3) 3
(4) 4




T -1 5 =1 = F=1-11 e Fin

g1 -1
.04, HOEH 9
(A) == F ATFR F T T FHH D) 2006
(B) ¥4 W o W9 /9T o I & (II) 1989
TE U e
(C) ufeensdi & foeg @= v & HgamE =i (III) 1965
IHEH
(D) TE=arT =+ SATGFEET F 90 F T IV) 1979

Frr feu U faeredi 0 © TE 3 w1 59 ity

(1) (A)-(D). (B)-(I1I), (C)-(II). (D)-(IV)
(2) (A)-(IV), (B)-(III), (C)-(D), (D)~(II)
(3) (A)-(ID), (B)-(IV), (C)~(I), (D)-(I1I)
(4) (A)-(II), (B)~(11I), (C)-(IV), (D)~(I)
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=43169]
2[Option ID=43170]
3[Option ID=43171]
4[Option ID=43172]

Sl. No.94
QBID:1025069
Studies show that ——————— is the optimal amount of stress that people need to
positively promote their health and sense of well-being, which coincides with
theory.
(1) Eustress; Maslow's (2) Intensity; Cognitive consistency
(3 Eustress; arousal (4) Distress; biological instinect
(1) 1
(2) 2
3) 3
(4) 4
HA=TEA =g B T ufd=el i I8 TaH AT 8, S A0 9 FEE AW FEel i
T =i FREIes: B9 H UeAlgd 4 & (o0 SAE99 8, 9 fag@ @ o @ 2|
(1)  =95=9; 9u<l =1 (2) s, SsETHF Sl
(3)  s7gE; S (4) =gom; SifF g

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=43173]
2[Option ID=43174]

3[Option ID=43175]
4[Option ID=43176]

Sl. No.95
QBID:1025070

An irrational fear and negative emotional reaction to homosexuality, their life style and
identity is called

(1) Homophohia

(2) Homo Sexphobia

(3) Both Homophobia and Homo Sexphobia

(4) None of these

(1) 1

(2) 2

(3) 3

(4) 4

T = TH el IO 7T i 71 27

(1) =g (2) fosmm
(3) BT (4) FEEE
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=43177]
2[Option ID=43178]
3[Option ID=43179]
4[Option ID=43180]

Sl. No.96
QBID:1025071

Panchayati Raj Institutions in India have brought about one of the following.

(1) Spread of Education

(2) Eradication of untouchability
(3) Formal representation of weaker sections in village governance
(1) Given ownership of land to the weaker sections

(1) 1

(2) 2

(3) 3

(4) 4




TR T T=Ed] T SEIA] 3 Hefaniad O § v e

(1)
(2)
(3)
(4)

37697 =1 TER
ST T S

g & 96 T FHSE T4 &1 SA=1F g

FASE T 1 G 1 = JZH FT

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43181]
2[Option ID=43182]

3[Option ID=43183]
4[Option ID=43184]

Sl. No.97
QBID:1025072

Which of the following items are not agencies of socialisation?

(A} School

(B) Immigration
() Religion

(D) Cinema hall

(E) Irrigation

Choose the correct answer from the options given below

(1) (C), (D), (E) only
(2) (B), (D), (E) only
(3) (A), (B), (C) only
(1) (B), (C), (D) only

1) 1

(2) 2

(3) 3

(4) 4




ffafaa 0 & =4 = 72 FursiER # e 92 e

(A) CBII

Fr= fou U faeRedl 0§ EE 3 1 99 ey

(1) === (0), (D), (E)
(2) ¥ (B), (D), (E)
(3) == (A). (B). (C)
(4) === (B), (0), (D)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43185]
2[Option ID=43186]

3[Option ID=43187]
4[Option ID=43188]

Sl. No.98
QBID:1025073

Biomagnification is a process.
(1) Where some compounds remain in the eco system in virtually unchanged form as they
are passed from one organism to another by predation.
(2) When some compounds change their properties and become part of other organism.
(3) Magnification of compounds with one step after the other
(4) Bio degradation of environmental system in which some compounds continuously
change their characteristics.
(1) 1
2) 2
3) 3
(4) 4




Sa—AEYT U 9T 2

(1) <@ @ ATk qifeafash some 3 S 59 § S9iatad 9 0 99 780 @ 9906 F WHE g UE
H gH 9 § =5 9 2

(3)  UF W @g gHL WO H AR F A=

(4) AT gt w1 ST STged, feH w5 A e st faemanet i afafis w8 2

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43189]
2[Option ID=43190]
3[Option ID=43191]
4[Option ID=43192]

Sl. No.99
QBID:1025074

Corporate Social Responsibility (CSR) considers

(1) Impact of company’s failure.

(2) Impact of the company’s actions on society.
(3) Impact of company’s success.

(4) Impact of company’s wind up.

1) 1

(2) 2

(3) 3

(4) 4

FITINE FTHISF ST (T, 0891, ) 0 s g -

(1) F9HT =l TEAwEr &1 waE (2) Ul = T R TS 9 99"
(3) AT = TEAAl & U9" (4) YT H1 = F F GHH

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43193]
2[Option ID=43194]
3[Option ID=43195]
4[Option ID=43196]

Sl. No.100
QBID:1025075




Development that meets the needs of the present without compromising the ability of future
generations to meet their own needs regarded as

(1) Community development (2) Sustainable development

(3) Global development (4) National development
(1) 1
(2) 2
(3) 3
(4) 4
widt difedi gro sl sravamast $i qfd i ama & 9 d awsia e fa adam f sravrsme S
afdt w9t fommm =1 fhm = & wrn wn 20
(1) =gty fawm (2) aa famm
(3) e fwm () s fawm

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43197]
2[Option ID=43198]

3[Option ID=43199]
4[Option ID=43200]




